Inverse Relationships (E)

6x 8 =48
_ x6=48
48+ 8=
48+ 6=
7%9=63
9x =63
63+9=_
 +7=9
12x6=72
6x12=_
s 6=12
72+12=_
7x7=49
Tx7=__
s 7=7
49+7=_
5x7=35
7x =35
35+ =5
_ +5=7

Fill in the blanks

11 x9=99 10x7="170
Ox11=__ _ x10=170
_ +9=11 70+T7=__
9+11=__ 70+ =
6 X 8 =48 10x7=170
_ x6=48 7x10=__
48 +8=_ __ =7=10

+~6=28 _ +10=7
12x6="72 7 x7=49
. x12=172 TxT=_
72+-6=__ 49+7=_
72+12=__ 49+ =
6 x6=36 11 x7=77
6x =36 T7x =TT
T 6=6 T77+=T7=__
36~ =6 77+11=__
12x6="72 5x8=40
_ x12=72 _ x5=40
_ +6=12 40+ =5
72+12=__ 40 5=

6% 5=30

5x =30
30+5=_
_ +6=5
12x11=132
. x12=132
132+ =12
132+12=_
11 x5=55
5x =55
_ +5=11
55+ =5
5 x 6 =230

_ x5=30
30+ =
30+5=_
5x9=45
9x =45
_ +9=5
45+ =9
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